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moon will now discuss the issue of a ¥191% 1; a retroactive . The power of a Wn is
to substantiate an effective claim. An acceptable 12 is in a case when the litigant could
have stated a better argument instead of stating the present argument; as in the case where
the P>t initially claimed >7°7 *np "2 n1ar X199 (which is an effective claim); however
it needs to be substantiated that it is indeed true. The °n substantiates the claim. The
P will be X1 that it indeed was 7% 17127 77 "mp or X2 717 712 77, since he has a 13n
that he could have stated 2"wi%. An example of ¥151% 13 is in our case where initially he
claimed " nnpar X°1%9m without 77 " (which is an ineffective claim). At this point he is
not believed (even though he has the w7 of 0"wi%) since he has no nwv. Afterwards he
makes a second claim that it was 121 71127 >7°7 "»pp. If we could substantiate this claim, then
obviously he would be believed. However, we cannot substantiate this claim of >77 "np,
since now he has no W»; he cannot claim 2"wa> (or any other vindicating argument)
since he already admitted (by saying 71°» 771217) that it originally belonged to the v yn. It
is just that previously, before his original claim of 7in1°21 X°1797 that is when he had a wn.
This type of wn is called y1o1% wn; there was a 1 by his first claim, but not by his
second claim. N1901N maintains that such a 1°» is not valid, as N9oI1n will shortly explain.
We will not believe his second claim of >7°7 "»p, since presently he has no valid »n to
support his claim (only a ¥7917 13n).

22RT XPWT ONTY ¥ax — however, it is certainly true that now, once the P1rn
stated —

71o% 773217 AT X09on — I bought it from ‘him’ who bought it from you
and by saying this, the P11 —

Yo 7nomw 7797 — admitted that it originally belonged to the 2y7yn, and since
he did not originally claim either 72" 77127 >7°7 *»p or XY 717 72 77 7°7 1P, then the p i —
IRy 93n» XY 10 — cannot subsequently claim that the 7o -

7352 77127 5797 2P — bought it from you in my presence —

N2 17 7712 97 5797 %P W — or that the 72 lived there one day in my

presence. We cannot argue that even in such a case the p*1m should be believed, since
he had -

oI 2R Sw3 9XT 13n['3] — a o that he could have stated originally —
YR Tow N7 RY — it was never yoursz; This is not a valid argument. The p>1n
is not believed with this 2n -

TR K2 yon® 1T — for we do not allow a retroactive 9%, A wn can
substantiate a claim only if it could have been claimed at the moment of the actual claim.
If it could only have been claimed in the past, but not presently; it is not an acceptable
wn. Therefore, since we cannot substantiate his claim of >7>7 *»p, the > has no mvw
and the property reverts back to the v yn.

mooin will first prove that 137K X2 37917 131 and then explain why it is not a valid wn.

' See n"a71 M.

* It would seem that the same will apply in a case where there was a 01 '3 nptri and the P> claimed

711 73277 NPT X019on, but did not initially state *7°7 *np. The p>1in cannot subsequently claim 7137) >7°7 "np
711 or X1 7 77°2 17) and expect to be believed on the basis of the 7n1°ar 7o 1, since it too is a ¥y1917 .
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(2,8n 77) JAPY 1M — as it is evident from the X3 later (that &5 vyon% wn
130K) —
PIY YIIR RNOHOP2 RNWP2 977 KIIT 923 — concerning an individual who

lived in an attic in the city of Xnwp for four years (and had o7y to that effect).
A 7v7yn claimed the property as his —

7197 773217 03T XAI9eR MR — and the prnn claimed ““I bought it from
‘him’ who bought it from you’ (as in our x73) —

N7 9297 7onp® XNR — the case came before 7' —

7778 08 7Y% 1R — he said to the p>1n ‘bring 237y —

N2 777 995K 7192 777 — that the 101 lived there for even one day —

7792 772 PRy — and I will place this property in your possession’. This
concludes the quote from the ¥773. N50IN continues with his proof —

70 9% n9% ORT ynwn — it seems from the response of n'"3 that if the po1nn
has no 2°7¥ that the 137 was X»v 71 7°2 77, then —

NRWY 777 572 97 0707 1R MY 381 MR — he is not believed to state that the
7011 lived there one day in my presence —

SONISAT 19 MR P2 ONRT 1AM — since the 10w has a 1% that he could have
claimed ‘I bought it directly from you (the 2v~vn). The reason this (¥19127) 1 is
invalid, is —

71777 925w 3190 — since the 707 already admitted —

7337 77192 IRYT — that he did not purchase the property from the 1ywn; the
p>1n claimed 02T X01997 —

32 1 57v% %% — he no longer has the 3% of 7nxar 7» that he originally had; the
P 1 already admitted that it was not 7°n2°ar 791 but 7°n12ar X°1997. This establishes that
when he claims now 77 *»p he presently has no wn.>

moon will now address the issue, why indeed is a ¥151% 13°n not effective. Seemingly he
is telling the truth, for if he is lying he could have lied originally! mo01n explains:

RDWT AKRPT 722 1R W RY — and there is no basis to believe what he
is presently claiming (that X»v 71 72 77 >7°7 *2p) on account of the—

mhrna Apwy 9190 e [Man] (73n%) — won that he could have originally
lied and said I bought it from you —

7179w 27 — before he admitted that 7°n1var X°1%57. The reason for this is —
TINYTR P20 M7 897 — for it never entered his mind -

v omud et o — that he needed this claim of »77 *np. When the P
claimed 1in°a1 X°1997 it is evident that he is saying the truth; since he has the »n of Jn
7123, This truth however, is an insufficient 71vvY; it does not establish that the 2y yn ever

3 This proof is valid only according to Mm2n who maintains that if the P> originally claimed 37 77 *»p
X1 77 2 it is a valid claim. However according to the 2"aw who maintains that the claim of X1 717 7°2 77
is valid only if there are 0*7¥ to that effect, but the 111 is never believed even if he initially claimed >77 "np
X1 717 7172 77; then there is no proof at all from that Xn3.

* See n"a7 M.
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sold the property. The P> needs now to make a claim that is an effective 71¥v; the claim
of 77 "np. There is no »°» now, however to substantiate his new claim of *7°7 *»p. The
fact that he was honest by the first claim, cannot prove that he is also honest in his second
claim®. A 13n merely substantiates the immediate claim; it cannot indicate to us that
everything this person will ever say is true. The P>1nn told the truth that 121 710021 X°3997,
being under the impression that this claim is sufficient to win the case. When he now
realizes that it is insufficient, it is possible that he resorts to lying.

In summation: A ¥191% 13°n is not a valid 2n. Therefore once the p i claimed that
71 73217 Arar X°19on and did not originally claim 7337 >7°7 P or RaY 7 7°2 77 07T 0P,
and then if he subsequently claims >7>7 " he is not believed for this is a ¥791% wn. The
only way the 11 can retain the field once he admitted 73> 73217 is (if 2°7¥ testify that
the 7v7yn sold it to the 721 or) if he brings >y that the 721 was X1 17 7°2 77. In that
case since we substantiate that the 121 was X»1 71 7°2 77, then the rule of %% P
applies, and 7"2 will argue that (perhaps) the 721 bought it from the Sqyyn. moon
proves that a ¥791% 2» is invalid from the story of Xn°2°v2 Xnwpa that X1 27 would only
accept 2>7Y that X1 717 7°2 77, but would not accept a 71v0 of X1 17 7°2 77 after the p*1n
already admitted that J»n 73217. A ¥79% Wn is invalid, because the fact that he was
previously honest in his original claim cannot prove that he is equally honest in his
subsequent claim.

Why is there a difference between a regular 13°» and a ¥151% 131? Seemingly,
even by every 1’1, we can argue that once the person presented his claim he
lost the 1n!

> mooin states that he was not originally aware that he needed the claim of >7°7 *»p; that makes it a 1
y9n7. If he were originally aware that he needed the claim of >7>7 "ap to win the case; then we can argue
that it (the 2n of 0"wn?) is not a ¥1917 1n, since he is presently merely interpreting his original statement
of 711 X°1997 to include also that &1 711 72 977 For if he was originally aware of the necessity of
claiming >7°7 "1p, then why did he not initially say it?! Obviously, we are forced to say that this is what he
meant when he originally said 7°n3ar X°1997; that the 121 was X»v 717 71°2 77. We cannot say that he did not
say it originally because it is not true (even though he knew it was necessary in order to win the case), for if
so, then why is he saying it now! What changed?! Therefore since he originally meant that X1 717 7°2 37
then it should be a valid 13°n. However, if we maintain as maoin states, that originally the p>1m was not
aware that to win the case he must claim >7°7 *»p; he thought that 7°n3°ar X°1991 alone is sufficient; therefore
it is a y79m? wn.

® If the 79 would have claimed that 7n1ar1 7' then he would be believed if either the p*1nin was there for
three years, or if the 7w7y» had no 0°7v that he was the Xnp X (with a n"wi X2w ). See however the >
at the conclusion of our mao1n.
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